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Seetion “A”

‘NOTE Thers ars THREE sections in this paper L.o. Section A, B and C. o

Mn.rks: 20

NOTE : Use this sheet for this section, No mark will be awerded for cutting, erasing or over writing,

Q.1 Write the correct option [.a. A, B, c ang 0 int ¢h empty box pravided opposite to sach part.
Rangs of the function #(x} = ;1‘- is

{a) Setof real numbars

 {c) Posltive real numbers

Solution et of (x - Jje*=0 .
® & ;o
4 o= -
dx
. (a) | (b}

Slops of the secant line is the

(a} instantinous rate of change

~{c) Bothaandb

(b} Setof non-zero numbers
(d)  None of these
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..................
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: (iii)“

Nona'_of these

None of these -

] w

(bj Average fala of change .
{d) ~ None of thess

d

-d—x(lanx)_=........... ovens | ‘ )
(8 Cotx (B) {c} -Sec?x " {d) Cosec?x
A point at which function double derivative is zer is Galled .. vv.esuseve . {vi)
{a) Critical point () Pointofinfecticy  (¢) Stationary point {d) Noneof these _
Two fines represents by ax? + 2hxy + by? = 0 are imaginary i ..... - I:j (vi)
(@ hi<ab ' (1)} (c) hi=ab {d) hiweab :
The two lines represented by ax? + 2hxy + by? = 0 will be perpendicular to each ether if rsesrnarin e |:L (viil)
() atb=-1 ) a.b=-1 (c) a+b=0 @ ab=0 -
Circles with the same center &7e KNOWN 85 1o.vcverieversercene |:| ()
(a) Complex {b} (c] Symmelric {dy Concenlric - o

" Radius of the clrcle X2 + ¥2 + 20X + 26y $6 2 08 w.coveverrinrruairreen : :} ®
@ Jg+f-c ) Jg-fec @ Joeiic () Jgef

T;—;-d)(— S . (xf)

(@) sin'x+c ‘(b)) cos'x+e o) sec”'x+c ) tan'x+c .
The process of finding anti derivation I called .........cuuvesivne. ' ' :} (i)
{2} Midpoint (b) Integration (c) Derivation {d) None of these
Let F,{~c,0) and F,{c,0) be the two foci on elllpse and p(x. y) is any point on the effipse then ......... {xiil)
(a) [PFi|+[PF|=2a {b) {©) PFHPFil=a - (d} |PFi#PFl=a

|PF1}-{PF2{=2a



| xiv)

.xv)--

)

i)

aviid)

" xix)’

lfe_i menmeoonicmnbea _ -
(a) Circh | (b) Elllpse ~{o) Parabola (d) Hyperbola

3 2 .
The degree of Z+2x-‘-’-§+y L
@) 3 . ° 2 © SR - N
The highest order darvative occurdng In the differential- equation is ......... of the differential equaﬁon
“(a) Degree (b) Order e} Solution (d) Both A andC.
A -
AN Ky 2
@ 2w (6} Undeined © 5 @ -5
f{x, y) = 2xy + yt is a homogenous function of degree ......... oessernnsen ‘
@ 1 . () 0 - () 3 : d 2
The ceoviceiiransnand method uses the slopes of the tangent knes to the graph of a function f{x) to
approximate rools of equation {{x) = 0.
{a) Newton-Raphson (b} Bisection © (&) Regular~Falsi  (d) None of these

~ For ﬂnding parabolic aregif approxlmahun is made mrough parabolic arc, then itis known as ............
- {a) Reclangular e " (b) Trapezoidal mie {c) Newton's rule (d) Simpsen's nule

(xiv)
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Section—-B & C Total Marks : 80

Time Allowed : 2:40 Hrs. Section~B - Marks : 50

Q.2 Answer any Ten paris. Each part carries equal marks,

NO;
(i)
(iif)

(iv)
(v)

(vi)
(vii)

(viii)

(x)
(x)

(xi)
(xii)

(xiii)

NOTE :
Q.3 (@
®)

Q4 (a)
(b)
. Q 5 (a)

(&)

Q.6 (a)

(®

N Evaluate I

L WX -1
Evaluate lin:
Kne) X -_1

Find the average rate of change for the fraction y =x* + 4 fromx =2 to x = 3.
Differentiate y = sin x by first principle rule.

sinlf—-tEJ

el

x

Evaluate lim[

5inx ~cosx
sinX + cosx

dx

xul

Determine the actual integral using definition _[ x*dx

ami}

Find a joint equation of the straight hne that passcs through origin and
perpendicular to the lines represented by 3x” Txy + 2yt = 0

_ c-l
e"+e*
Differentiate y = 8" by first principle rile.
Find an equation of a circle passes “through thc three poiuts (l 2) (3,~4)
and (5,-6). '
Find an equation of parabola with focus at F(0, 3), directrix y = -3,

fu &u
If U=Ff| = | then show that x{ — [+ y| ~ |=0
(XJ en saow tha x(ax) y(ayJ .

Find the first two derivatives of f (x).=

Approx:mdte by tapezoidal rule the definite integral I= _[x dx inn =4

submtcrvals

. "Section - C : : Marks : 30
Aﬂempt any THREE questions, Each question carries equal marks
Find xss0 that log,p{x+6) - logjo(x—3)=1 :
Use Maclaurin series to _approximate the value of a function f{x) = loga( 1+x) ata
point xe=0,
Find the angles of the triangle ABC whOSe vertices are A(—4 0, B(2, 0) and C(2,5)
For what value of C the line y = mx + ¢ touches the circle x* + y? = 327
Solve the differential equation & = _x-!-_y'

dx x-y
. : : . x? oy .

Find the tangent equation at a point (1, 2) to ellipse ~4——*-—9— =1 which is

perpendicular to the line 9x + 8y — 36 = 0.

Evaluatc the integral I?—T—) dx
x+1)(x

Show that the rational function f(x,y)= M 1s a homogeneous fuucu'u;L
¥+X



